Calculus 12

Exercise 2.8 — Practice Problems

1. Find the first and second derivatives of the given functions
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2. Find the third derivative.

a) f(x)=1-—12x+4x>—x3
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3. Find the first six derivatives of the function y = x5 + x* + x> + x2 + x + 1
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7. Find y" by implicit differentiation.
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8. Find a quadratic function f such that f(3) = 33, f'(3) = 22,and f""(3) = 8
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9. Suppose that f(x) = g(x)h(x).

a) Express f” intermsof g, g',g"", h,h', A"
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b) Find a similar expression for f
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a) If f(x) =|x? — 1|, find f" and f"’ and state their domains.

b) Sketch the graphsof f, f', f"'
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